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GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Semester —I Regular / Remedial Examination January - 2011

Subject code: 310008
Subject Name: Business Mathematics

Date: 24 /01 /2011 Time: 10.30 am — 01.00 pm

Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic

Q.1 (a) If f(x)=2x"-x+3, find the value of f(-1) and f(-3)

(b) 1.Find Lim x*+x-2

X—>1 3x" -2x-1
2.Find Lim x’-16
X—>4 x-4
Q.2

(@) Draw the graph of the following inequality.
2x +y<3

(b) Write the rules of differentiation.

OR

(b) Find (i) 80 C7g (ii) 6 P

Q.3

(@) In an arithmetic progression of -3,2,7, 12 ... find the sum of first 40 terms.

(®)  Suresh opens a recurring deposit account for 10 year. He deposits ~ 2,500 in the
beginning of every year. If the rate of compound interest is 14% find out the
balance in his account at the end of 10™ year.

OR
Q.3 (a) In an arithmetic progression of -5, 1,7, 13 ... which term will be 169.

(0)  Sonal opens a 15 years recurring deposit account and deposits * 400 on every 1
January and 1* July. If the rate of compound interest is 12% find his balance on
maturity.

Q.4

(@) Bhavik discounted a bill of * 35,000 drawn on 08-03-2004 for 5 months at 15%
on 30-05-2004. find out Banker’s discount, True discount and Banker’s gain.

(b) Explain meaning and calculation of

1. True discount
2. Banker’s gain
OR
Q.4 (a) Murtaza discounts a bill of = 21,000 for 4 months at 15%. Find out Banker’s
gain.

(b) Explain meaning and calculation of

1. Banker’s discount
2. Banker’s gain
Q.5

(@)

In how many ways a committee of 5 students can be formed out of 3 boys and 5
girls so that at least 1 boy be included there in.
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A company manufactures cricket bats and tennis rackets. In manufacturing one
cricket bat 1.5 machine — hours and 2 man - hours are consume while for a
tennis racket the time consume is 2.5 machine-hours and 1.5 man-hours. Due to
legal restrictions, at the most 15 hours of machine time and 12 hours of man

time are available. The profit estimated on the sale of one cricket bat is ~ 50 and

that on the sale of tennis racket is ~ 40. Find the number of bats and rackets to be
manufactured so as to earn maximum profit.

OR

Give the meaning, importance and uses of linear programming.

Mansingbhai transfers from his salary ~ 500 every months to his provident fund

account. If the rate of compound is 12% find out his balance at the end for his
service for 25 years.
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